PERCENTAGES: Find a percentage of a given amount (whole numbers)

Calculate percentages of given amounts. Round to 2 d.p.

(1]

(4]

[7]

[10]

[13]

[16]

[19]

87% of 8351 =

95% of 1879 =

12% of 1247 =

69% of 7191 =

92% of 8271 =

56% of 8482 =

38% of 9682 =

[2]

(5]

(8]

[11]

[14]

[17]

[20]

Date:

55% of 3355 =

10% of 2130 =

34% of 1036 =

95% of 4937 =

67% of 9827 =

80% of 3948 =

17% of 2617 =
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3]

[6]

[9]

[12]

[15]

(18]

[21]

22% of 9511 =

20% of 1919 =

7% of 2552 =

25% of 7362 =

76% of 6664 =

5% of 6900 =

6% of 720 =



ANSWERS

PERCENTAGES: Find a percentage of a given amount (whole numbers)

Calculate percentages of given amounts. Round to 2 d.p.

(1]

(4]

(7]

[10]

[13]

[16]

[19]

87% of 8351 =7,265.37

95% of 1879 =1,785.05

12% of 1247 =149.64

69% of 7191 =4,961.79

92% of 8271 =7,609.32

56% of 8482 =4,749.92

38% 0f 9682 =3,679.16

[2]

[5]

(8]

[11]

[14]

[17]

[20]
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Date: Name:

55% of 3355 =1,845.25

10% of 2130 =213.00

34% of 1036 =352.24

95% of 4937 =4,690.15

67% of 9827 =6,584.09

80% of 3948 =3,158.40

17% of 2617 =444.89

3]

(6]

[9]

[12]

[15]

(18]

[21]

22% of 9511 =2,092.42

20% of 1919 =383.80

7% of 2552 =178.64

25% of 7362 =1,840.50

76% of 6664 =5,064.64

5% of 6900 =345.00

6% of 720 =43.20



